icket Throughput: k8s-memif-3n-hsw-x520-64b-1tlc-base_and_scale-12bd-p
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Test Cases [Index]
m 1. (05 runs) 10ge2p1x520-eth-1drcl2bdbasemaclirn-
eth-2memif-1drcl2xc-1paral-k8s
m 2. (08 runs) 10ge2plx520-eth-1drcl2bdbasemaclirn-
eth-2memif-2drcl2xc-1horiz-k8s
= 3. (08 runs) 10ge2pl1x520-eth-1drcl2bdbasemaclirn-
eth-8memif-4drcl2xc-1chain-k8s
= 4. (10 runs) 10ge2p1x520-eth-1drcl2bdbasemacirn-
eth-4memif-2drcl2xc-1chain-k8s
| 5. (08 runs) 10ge2p1x520-eth-1drcl2bdbasemaclirn-

eth-2memif-4drcl2xc-1horiz-k8s



